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Overview
Figure 1 shows the common KeyStone 1 DSP memory architecture.
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Figure 1. KeyStone 1 DSP memory architecture
The memory performance STK tests the performance of all memories in the system, which includes:

· DSP core memory copy throughput

· DSP core read/write latency

· EDMA memory copy throughput

· EDMA transfer overhead

· EDMA test with different ACNT

· EDMA test with different Index

· IDMA memory copy throughput

· IDMA transfer overhead

Different cache/prefetch buffer configuration cases for DSP core are also covered.
Refer to “KeyStone_1_Self_Test_Kit_User's_Guide(READ ME FIRST).doc” for some common information about K1 STK.

1 Test methods
1.1 Throughput Test

The pseudocode for throughput test is:

flushCache()；

startTime= getTimeStampCount()；
memoryCopy(number of bytes);
totalTime = getTimeStampCount()-startTime；
Throughput= (number of bytes)/totalTime；
In these tests, the default memory block size for L1 copy is 8KB; the memory block size for other DSP core copy is 64KB, the memory block size for other EDMA copy is 128KB; IDMA LL2->LL2 copy block size is 32KB.
1.2 DSP core read/write latency test

The pseudocode for DSP core memory access latency test is:

flushCache()；

startCycle= getTimeStampCount()；
for(i=0；i< AccessTimes；i++)

{



Access memory at address；


address+= stride；
}

totalCycles = getTimeStampCount()-startCycle；
Cycles/Access= totalCycles /AccessTimes；
In the test, “Access memory” is implemented with LDDW or STDW instruction in assembly.
1.3 DMA overhead test

Initial latency is defined as the time between DMA event happen to real data transfer begin. Since initial latency is hard to measure. We measure the sum of the Latency, and the time to transfer smallest element.

The pseudocode for DMA overhead test is:

flushCache()；

startTime= getTimeStampCount()；
DMA transfer one word;
overhead = getTimeStampCount()-startTime；
1.4 EDMA test with different ACNT or index
The ACNT and index affect EDMA throughput dramatically.

The pseudocode for EDMA test with different ACNT is:

flushCache()；

for(different ACNT)

{

    startTime= getTimeStampCount()；
    EDMA copy with this ACNT (BCNT=1);
    totalTime = getTimeStampCount()-startTime；
    Throughput= ACNT/totalTime；

}
The pseudocode for EDMA index test is:

flushCache()；

for(different index)

{

    startTime= getTimeStampCount()；
    EDMA copy with this index;
    totalTime = getTimeStampCount()-startTime；
    Throughput= totalBytes/totalTime；

}
2 Test Coverage

Memory performance tests should be implemented to cover:

· All memories in the system;

· All DSP cores and DMA transfer controllers which can access memory

· All paths for memory access
2.1 Test by different masters
As shown in figure 1, there are mainly three types of masters can be used to access memory:
· DSP core, can access all memories

· EDMA, can access all memories

· IDMA, can only access Local L1 and L2 memories

Please note, there are ARM cores in some KeyStone 1 devices, but this document only discuss the tests run on the DSP core. Separate test program is needed to test memory through ARM core.
2.2 Test all memories in the system

As shown in figure 1, there are mainly four types of memories in the system, all of them should be covered by memory test:
· Internal L1 memory
· Internal Local L2 memory
· Internal Shared L2 memory
· External DDR SDRAM
External DDR SDRAM should be configured properly before test.
2.3 Test through different paths
Since each master has its own bus, same memory may be accessed by different masters from different data paths. For example, DSP core and EDMA access Local L2 through different path. 
Same memory may be accessed thought different data path by same master. For example, DDR SDRAM can be accessed by DSP core through cache or directly without cache. 

All these different paths should be covered by memory test.

3 Test code/project
This section introduces the implementation of these memory tests on KeyStone 1 DSP.
3.1 CCS project

Following figure shows the directory structure of the test project.
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Figure 2. Directory structure of test project

The project files are in “Memory_Performance” folder. There is some commonly used initialization and driver code for DDR, EDMA and PLL… in “common” folder. The main source code files are in the “Memory_Performance\src” subfolder. Below table describes these source files.

Table 1. Source files of the test codes

	Source files
	Descriptions

	Mem_Access_DSP_core_performance.c
	Implementation of DSP core memory copy test and DSP core read/write latency test for different memories.

	Mem_Access_DSP_core_Test.asm
	Low level implementation of DSP core read/write latency test in assembly. The key API is:
Asm_LDDW_Test(srcBuff, uiIndex, uiCount);
Asm_STDW_Test(srcBuff, uiIndex, uiCount);

	Common_test.c
	Optimized implementation of DSP core copy multiple of 8 bytes to maximize the throughput.

	Mem_Access_Edma_Performance.c
	Implementation of EDMA performance tests including EDMA throughput, overhead, ACNT and index test.

	Mem_Access_Idma_Performance.c
	Implementation of IDMA performance tests, including IDMA throughput and overhead.

	Mem_Access_performance.c
	main function for initialization and call all test cases.


3.2 To run the test program on KeyStone 1 EVM

The test programs can be run on EVM of C6678, C6670 or TCI6614. The type of the device on EVM is detected by STK code automatically. 

The steps to run the test cases on EVM board are:

1. extract (or install) the package, and switch CCS workspace to the extracted folder (or installation folder)

2. import the project to CCS

3. build the projects. You may need to change the CSL including path, by default the project use CSL header files in: C:\ti\pdk_C6678_1_1_2_6\packages\ti\csl for C6678.

4. Set the boot mode of the device on EVM to no boot.

5. Load the program to core 0 of a DSP;

6. run the core, then, you should see output in console window.

Refer to appendix of this document to see the typical test output.

3.3 Test configuration
There are multiple macros defined in the source code to configure the test.
Following macros at the beginning of “Mem_Access_DSP_core_performance.c” can be modified to change the test source/destination, size, times…
#define 
LOAD_STORE_TIMES 
(512)

#define 
L2_TEST_BASE_ADDR 
(0x820000)

#define 
L2_END_ADDR 

(0x880000)

#define 
MAX_L2_CACHE 

(256*1024)

#define 
L2_COPY_SIZE 

((L2_END_ADDR-MAX_L2_CACHE-L2_TEST_BASE_ADDR)/2)

#define 
L2_LOAD_STORE_SIZE 
(L2_END_ADDR-L2_TEST_BASE_ADDR)

#define 
L1D_TEST_BASE_ADDR 
(0xf00000)

#define 
L1D_COPY_SIZE 

(8*1024)

#define 
CORE1_L2_TEST_BASE_ADDR
(0x11800000)

#define 
ORIGIN_SL2_TEST_BASE_ADDR 
(0x0C080000)

#define 
REMAP_SL2_TEST_BASE_ADDR 
(0x18080000)

#define 
SL2_LOAD_STORE_SIZE 

(1024*1024)

#define 
SL2_COPY_SIZE 

L2_COPY_SIZE

#define 
DDR_TEST_ADDR 

(0x88000000)

#define 
DDR_LOAD_STORE_SIZE (128*1024*1024)

#define 
DDR_PAGE_SIZE 

(1024*8)
Following macros at the beginning of “Mem_Access_Edma_Performance.c” can be modified to change the EDMA test source/destination, size…
#define 
A_COUNT 
(1024)

#define 
C1_L1D_TEST_SRC (0x11f00000)

#define 
C1_L1D_TEST_DST (0x11f02000)

#define 
L1D_TEST_BCNT 
((C1_L1D_TEST_DST-C1_L1D_TEST_SRC)/A_COUNT)

#define 
C1_L1P_TEST_SRC (0x11e00000)

#define 
C1_L1P_TEST_DST (0x11e02000)

#define 
L1P_TEST_BCNT 
((C1_L1P_TEST_DST-C1_L1P_TEST_SRC)/A_COUNT)

#define 
C1_LL2_TEST_SRC (0x11820000)

#define 
C1_LL2_TEST_DST (0x11840000)

#define 
C2_LL2_TEST_DST (0x12840000)

#define 
LL2_TEST_SIZE 
(C1_LL2_TEST_DST-C1_LL2_TEST_SRC)

#define 
LL2_TEST_BCNT 
(LL2_TEST_SIZE/A_COUNT)

#define 
SL2_TEST_SRC 
(0x0C080000)

#define 
SL2_TEST_DST 
(0x0C140000)

//#define 
SL2_TEST_SIZE 
(SL2_TEST_DST-SL2_TEST_SRC)

#define 
SL2_TEST_SIZE 
LL2_TEST_SIZE

#define 
SL2_TEST_BCNT 
(SL2_TEST_SIZE/A_COUNT)

#define 
DDR_TEST_SRC 
(0x88000000)

#define 
DDR_TEST_DST 
(0x88100000)

#define 
DDR_PAGE_SIZE 
(1024*2*8)

//#define 
DDR_TEST_BCNT 
((DDR_TEST_DST-DDR_TEST_SRC)/A_COUNT)

#define 
DDR_TEST_BCNT 
LL2_TEST_BCNT 
Following macros at the beginning of “Mem_Access_idma_Performance.c” can be modified to change the IDMA test source/destination, size…
#define 
L1D_TEST_SRC 
(0x00f00000)

#define 
L1D_TEST_DST 
(0x00f02000)

#define 
L1D_TEST_CNT 
((L1D_TEST_DST-L1D_TEST_SRC))

#define 
L1P_TEST_SRC 
(0x00e00000)

#define 
L1P_TEST_DST 
(0x00e02000)

#define 
L1P_TEST_CNT 
((L1P_TEST_DST-L1P_TEST_SRC))

#define 
L2_TEST_SRC 
(0x00820000)

#define 
L2_TEST_DST 
(0x00840000)

#define 
L2_TEST_CNT 
(32*1024)
3.4 Migrate the test to custom board
These tests are implemented based on TI’s EVM boards. 

In real system, the DDR configuration may be changed according to user’s hardware design in “KeyStone_DDR_Init.c”.

DSP core and DDR speed configuration may need be changed in main function like below:

//DSP core speed: 122.88*236/29= 999.9889655MHz

KeyStone_main_PLL_init(122.88, 236, 29);

//DDR init 66.667*20/1= 1333

KeyStone_DDR_init (66.667, 20, 1);
To make your own configurations take effect, you must rebuild the project. Since CSL (Chip Support Library) header files are used by these projects, you may need change CSL including path in your system before you rebuild the project.
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Appendix: Typical test output
Below is the test output on TCI6614 EVM.

JTAG ID= 0x1009e02f. This is C6678/TCI6608 device, version variant = 1.

DEVSTAT= 0x00010081. little endian, No boot or EMIF16(NOR FLASH) or UART boot, PLL configuration implies the input clock for core is 50MHz.

SmartReflex VID= 47, required core voltage= 1.001V.

Die ID= 0x02011014, 0x04010169, 0x00000000, 0x40680021

Device speed grade = 1000MHz.

Initialize DSP main clock = 100.00MHz/1x10 = 1000MHz

Initialize DDR speed = 66.67MHzx/1x20 = 1333.333MTS

Enable Exception handling...

DSP core 8 bytes aligned Memory Copy test: L1D->L1D

 5483 MB/s, copy 8192 bytes from 0xf00000 to 0xf02000, consumes 1494 cycles

DSP core 8 bytes aligned Memory Copy test: LL2->L1D

 3280 MB/s, copy 8192 bytes from 0x820000 to 0xf00000, consumes 2497 cycles

DSP core 8 bytes aligned Memory Copy test: L1D->LL2

 7937 MB/s, copy 8192 bytes from 0xf00000 to 0x820000, consumes 1032 cycles

DSP core 8 bytes aligned Memory Copy test: LL2->LL2

 3199 MB/s, copy 65536 bytes from 0x820000 to 0x830000, consumes 20484 cycles

DSP core 8 bytes aligned Memory Copy test: LL2->Other CorePac L2, nonprefetchable, noncacheable

 1643 MB/s, copy 65536 bytes from 0x820000 to 0x11800000, consumes 39864 cycles

DSP core 8 bytes aligned Memory Copy test: Other CorePac L2->LL2, nonprefetchable, noncacheable

  187 MB/s, copy 65536 bytes from 0x11800000 to 0x820000, consumes 350214 cycles

DSP core 8 bytes aligned Memory Copy test: Other CorePac L2->Other CorePac L2, nonprefetchable, noncacheable

  166 MB/s, copy 65536 bytes from 0x11800000 to 0x11810000, consumes 393183 cycles

DSP core 8 bytes aligned Memory Copy test: LL2->Other CorePac L2, prefetchable, 32KB L1D cache only

 2674 MB/s, copy 65536 bytes from 0x820000 to 0x11800000, consumes 24506 cycles

DSP core 8 bytes aligned Memory Copy test: Other CorePac L2->LL2, prefetchable, 32KB L1D cache only

 1218 MB/s, copy 65536 bytes from 0x11800000 to 0x820000, consumes 53796 cycles

DSP core 8 bytes aligned Memory Copy test: Other CorePac L2->Other CorePac L2, prefetchable, 32KB L1D cache only

  969 MB/s, copy 65536 bytes from 0x11800000 to 0x11810000, consumes 67599 cycles

DSP core 8 bytes aligned Memory Copy test: LL2->Other CorePac L2, prefetchable, 32KB L1D and 256KB L2 cache

 1926 MB/s, copy 65536 bytes from 0x820000 to 0x11800000, consumes 34022 cycles

DSP core 8 bytes aligned Memory Copy test: Other CorePac L2->LL2, prefetchable, 32KB L1D and 256KB L2 cache

 2012 MB/s, copy 65536 bytes from 0x11800000 to 0x820000, consumes 32566 cycles

DSP core 8 bytes aligned Memory Copy test: Other CorePac L2->Other CorePac L2, prefetchable, 32KB L1D and 256KB L2 cache

 1665 MB/s, copy 65536 bytes from 0x11800000 to 0x11810000, consumes 39342 cycles

DSP core 8 bytes aligned Memory Copy test: LL2->SL2, prefetchable, cacheable

 3763 MB/s, copy 65536 bytes from 0x820000 to 0xc080000, consumes 17415 cycles

DSP core 8 bytes aligned Memory Copy test: SL2->LL2, prefetchable, cacheable

 3543 MB/s, copy 65536 bytes from 0xc080000 to 0x820000, consumes 18497 cycles

DSP core 8 bytes aligned Memory Copy test: SL2->SL2, prefetchable, cacheable

 3038 MB/s, copy 65536 bytes from 0xc080000 to 0xc090000, consumes 21569 cycles

DSP core 8 bytes aligned Memory Copy test: LL2->remapped SL2, non-prefetchable, non-cacheable

 2288 MB/s, copy 65536 bytes from 0x820000 to 0x18080000, consumes 28634 cycles

DSP core 8 bytes aligned Memory Copy test: remapped SL2->LL2, non-prefetchable, non-cacheable

  592 MB/s, copy 65536 bytes from 0x18080000 to 0x820000, consumes 110631 cycles

DSP core 8 bytes aligned Memory Copy test: remapped SL2->remapped SL2, non-prefetchable, non-cacheable

  457 MB/s, copy 65536 bytes from 0x18080000 to 0x18090000, consumes 143345 cycles

DSP core 8 bytes aligned Memory Copy test: LL2->remapped SL2, prefetchable, cacheable

 3367 MB/s, copy 65536 bytes from 0x820000 to 0x18080000, consumes 19461 cycles

DSP core 8 bytes aligned Memory Copy test: remapped SL2->LL2, prefetchable, cacheable

 3275 MB/s, copy 65536 bytes from 0x18080000 to 0x820000, consumes 20005 cycles

DSP core 8 bytes aligned Memory Copy test: remapped SL2->remapped SL2, prefetchable, cacheable

 2774 MB/s, copy 65536 bytes from 0x18080000 to 0x18090000, consumes 23619 cycles

CPU 8 bytes aligned Memory Copy test: SL2->DDRA, noncacheable, nonprefetchable

 1334 MB/s, copy 65536 bytes from 0xc080000 to 0x88000000, consumes 49095 cycles

CPU 8 bytes aligned Memory Copy test: DDRA->SL2, noncacheable, nonprefetchable

  184 MB/s, copy 65536 bytes from 0x88000000 to 0xc080000, consumes 355038 cycles

DSP core 8 bytes aligned Memory Copy test: LL2->DDR, noncacheable, nonprefetchable

 1336 MB/s, copy 65536 bytes from 0x820000 to 0x88000000, consumes 49020 cycles

DSP core 8 bytes aligned Memory Copy test: DDR->LL2, noncacheable, nonprefetchable

  191 MB/s, copy 65536 bytes from 0x88000000 to 0x820000, consumes 341857 cycles

DSP core 8 bytes aligned Memory Copy test: DDR->DDR same bank, noncacheable, nonprefetchable

  113 MB/s, copy 65536 bytes from 0x88000000 to 0x88010000, consumes 577833 cycles

DSP core 8 bytes aligned Memory Copy test: DDR->DDR different bank, noncacheable, nonprefetchable

  150 MB/s, copy 65536 bytes from 0x88000000 to 0x88012000, consumes 436455 cycles

CPU 8 bytes aligned Memory Copy test: SL2->DDRA, prefetchable, 32KB L1D cache only

 2668 MB/s, copy 65536 bytes from 0xc080000 to 0x88000000, consumes 24561 cycles

CPU 8 bytes aligned Memory Copy test: DDRA->SL2, prefetchable, 32KB L1D cache only

 1313 MB/s, copy 65536 bytes from 0x88000000 to 0xc080000, consumes 49889 cycles

DSP core 8 bytes aligned Memory Copy test: LL2->DDR, prefetchable, 32KB L1D cache only

 2677 MB/s, copy 65536 bytes from 0x820000 to 0x88000000, consumes 24480 cycles

DSP core 8 bytes aligned Memory Copy test: DDR->LL2, prefetchable, 32KB L1D cache only

 1353 MB/s, copy 65536 bytes from 0x88000000 to 0x820000, consumes 48407 cycles

DSP core 8 bytes aligned Memory Copy test: DDR->DDR same bank, prefetchable, 32KB L1D cache only

  744 MB/s, copy 65536 bytes from 0x88000000 to 0x88010000, consumes 87975 cycles

DSP core 8 bytes aligned Memory Copy test: DDR->DDR different bank, prefetchable, 32KB L1D cache only

  948 MB/s, copy 65536 bytes from 0x88000000 to 0x88012000, consumes 69076 cycles

CPU 8 bytes aligned Memory Copy test: SL2->DDRA, prefetchable, 32KB L1D and 256KB L2 cache

 1106 MB/s, copy 65536 bytes from 0xc080000 to 0x88000010, consumes 59251 cycles

CPU 8 bytes aligned Memory Copy test: DDRA->SL2, prefetchable, 32KB L1D and 256KB L2 cache

 2220 MB/s, copy 65536 bytes from 0x88000000 to 0xc080000, consumes 29511 cycles

DSP core 8 bytes aligned Memory Copy test: LL2->DDR, prefetchable, 32KB L1D and 256KB L2 cache

 2188 MB/s, copy 65536 bytes from 0x820000 to 0x88000000, consumes 29939 cycles

DSP core 8 bytes aligned Memory Copy test: DDR->LL2, prefetchable, 32KB L1D and 256KB L2 cache

 2190 MB/s, copy 65536 bytes from 0x88000000 to 0x820000, consumes 29925 cycles

DSP core 8 bytes aligned Memory Copy test: DDR->DDR same bank, prefetchable, 32KB L1D and 256KB L2 cache

 1215 MB/s, copy 65536 bytes from 0x88000000 to 0x88010000, consumes 53908 cycles

DSP core 8 bytes aligned Memory Copy test: DDR->DDR different bank, prefetchable, 32KB L1D and 256KB L2 cache

 1805 MB/s, copy 65536 bytes from 0x88000000 to 0x88012000, consumes 36288 cycles

LL2 LDDW test: 0KB L1D cahce

Memory access performance test at 0x820000

Index=   0  Cycles/LDDW= 7.08

Index=   1  Cycles/LDDW= 6.58

Index=   2  Cycles/LDDW= 6.07

Index=   3  Cycles/LDDW= 5.57

Index=   4  Cycles/LDDW= 5.07

Index=   5  Cycles/LDDW= 5.06

Index=   6  Cycles/LDDW= 4.81

Index=   7  Cycles/LDDW= 4.43

Index=   8  Cycles/LDDW= 4.05

Index=  10  Cycles/LDDW= 4.05

Index=  12  Cycles/LDDW= 4.05

Index=  14  Cycles/LDDW= 4.05

Index=  16  Cycles/LDDW= 4.05

Index=  18  Cycles/LDDW= 4.05

Index=  20  Cycles/LDDW= 4.05

Index=  22  Cycles/LDDW= 4.05

Index=  24  Cycles/LDDW= 4.05

Index=  26  Cycles/LDDW= 4.05

Index=  28  Cycles/LDDW= 4.05

Index=  30  Cycles/LDDW= 4.05

Index=  32  Cycles/LDDW= 4.05

Index=  40  Cycles/LDDW= 4.05

Index=  48  Cycles/LDDW= 4.05

Index=  56  Cycles/LDDW= 4.05

Index=  64  Cycles/LDDW= 4.05

LL2 STDW test: 0KB L1D cahce

Memory access performance test at 0x820000

Index=   0  Cycles/STDW= 1.02

Index=   1  Cycles/STDW= 1.02

Index=   2  Cycles/STDW= 1.02

Index=   3  Cycles/STDW= 1.02

Index=   4  Cycles/STDW= 1.02

Index=   5  Cycles/STDW= 1.25

Index=   6  Cycles/STDW= 1.02

Index=   7  Cycles/STDW= 1.02

Index=   8  Cycles/STDW= 1.99

Index=  10  Cycles/STDW= 1.02

Index=  12  Cycles/STDW= 1.02

Index=  14  Cycles/STDW= 1.02

Index=  16  Cycles/STDW= 3.96

Index=  18  Cycles/STDW= 1.02

Index=  20  Cycles/STDW= 1.02

Index=  22  Cycles/STDW= 1.02

Index=  24  Cycles/STDW= 1.99

Index=  26  Cycles/STDW= 1.02

Index=  28  Cycles/STDW= 1.02

Index=  30  Cycles/STDW= 1.02

Index=  32  Cycles/STDW= 3.96

Index=  40  Cycles/STDW= 1.99

Index=  48  Cycles/STDW= 3.96

Index=  56  Cycles/STDW= 1.99

Index=  64  Cycles/STDW= 3.96

LL2 LDDW test: 32KB L1D cahce

Memory access performance test at 0x820000

Index=   0  Cycles/LDDW= 1.07

Index=   1  Cycles/LDDW= 2.07

Index=   2  Cycles/LDDW= 3.08

Index=   3  Cycles/LDDW= 4.08

Index=   4  Cycles/LDDW= 5.10

Index=   5  Cycles/LDDW= 4.60

Index=   6  Cycles/LDDW= 4.85

Index=   7  Cycles/LDDW= 4.73

Index=   8  Cycles/LDDW= 4.60

Index=  10  Cycles/LDDW= 4.60

Index=  12  Cycles/LDDW= 4.60

Index=  14  Cycles/LDDW= 4.61

Index=  16  Cycles/LDDW= 4.60

Index=  18  Cycles/LDDW= 4.60

Index=  20  Cycles/LDDW= 4.60

Index=  22  Cycles/LDDW= 4.61

Index=  24  Cycles/LDDW= 4.60

Index=  26  Cycles/LDDW= 4.60

Index=  28  Cycles/LDDW= 4.60

Index=  30  Cycles/LDDW= 4.61

Index=  32  Cycles/LDDW= 4.60

Index=  40  Cycles/LDDW= 4.60

Index=  48  Cycles/LDDW= 4.60

Index=  56  Cycles/LDDW= 4.60

Index=  64  Cycles/LDDW= 4.60

LL2 STDW test: 32KB L1D cahce

Memory access performance test at 0x820000

Index=   0  Cycles/STDW= 1.06

Index=   1  Cycles/STDW= 1.06

Index=   2  Cycles/STDW= 1.06

Index=   3  Cycles/STDW= 1.06

Index=   4  Cycles/STDW= 1.06

Index=   5  Cycles/STDW= 1.29

Index=   6  Cycles/STDW= 1.06

Index=   7  Cycles/STDW= 1.06

Index=   8  Cycles/STDW= 2.03

Index=  10  Cycles/STDW= 1.06

Index=  12  Cycles/STDW= 1.06

Index=  14  Cycles/STDW= 1.06

Index=  16  Cycles/STDW= 4.00

Index=  18  Cycles/STDW= 1.06

Index=  20  Cycles/STDW= 1.06

Index=  22  Cycles/STDW= 1.06

Index=  24  Cycles/STDW= 2.03

Index=  26  Cycles/STDW= 1.06

Index=  28  Cycles/STDW= 1.06

Index=  30  Cycles/STDW= 1.06

Index=  32  Cycles/STDW= 4.00

Index=  40  Cycles/STDW= 2.03

Index=  48  Cycles/STDW= 4.00

Index=  56  Cycles/STDW= 2.03

Index=  64  Cycles/STDW= 4.00

SL2 LDDW test: nonprefetchable, noncacheable

Memory access performance test at 0xc080000

Index=   0  Cycles/LDDW= 20.23

Index=   1  Cycles/LDDW= 17.99

Index=   2  Cycles/LDDW= 15.71

Index=   3  Cycles/LDDW= 13.47

Index=   4  Cycles/LDDW= 11.19

Index=   5  Cycles/LDDW= 12.93

Index=   6  Cycles/LDDW= 11.17

Index=   7  Cycles/LDDW= 10.67

Index=   8  Cycles/LDDW= 10.16

Index=  10  Cycles/LDDW= 10.15

Index=  12  Cycles/LDDW= 10.16

Index=  14  Cycles/LDDW= 10.16

Index=  16  Cycles/LDDW= 10.19

Index=  18  Cycles/LDDW= 10.17

Index=  20  Cycles/LDDW= 10.18

Index=  22  Cycles/LDDW= 10.18

Index=  24  Cycles/LDDW= 10.19

Index=  26  Cycles/LDDW= 10.19

Index=  28  Cycles/LDDW= 10.19

Index=  30  Cycles/LDDW= 10.19

Index=  32  Cycles/LDDW= 10.25

Index=  40  Cycles/LDDW= 10.22

Index=  48  Cycles/LDDW= 10.25

Index=  56  Cycles/LDDW= 10.25

Index=  64  Cycles/LDDW= 10.38

Index=  96  Cycles/LDDW= 10.38

Index= 128  Cycles/LDDW= 10.63

Index= 192  Cycles/LDDW= 10.63

SL2 STDW test: nonprefetchable, noncacheable

Memory access performance test at 0xc080000

Index=   0  Cycles/STDW= 1.04

Index=   1  Cycles/STDW= 1.04

Index=   2  Cycles/STDW= 1.04

Index=   3  Cycles/STDW= 1.52

Index=   4  Cycles/STDW= 2.01

Index=   5  Cycles/STDW= 2.01

Index=   6  Cycles/STDW= 2.02

Index=   7  Cycles/STDW= 2.02

Index=   8  Cycles/STDW= 2.02

Index=  10  Cycles/STDW= 2.03

Index=  12  Cycles/STDW= 2.04

Index=  14  Cycles/STDW= 2.04

Index=  16  Cycles/STDW= 2.05

Index=  18  Cycles/STDW= 2.06

Index=  20  Cycles/STDW= 2.07

Index=  22  Cycles/STDW= 2.08

Index=  24  Cycles/STDW= 2.09

Index=  26  Cycles/STDW= 2.09

Index=  28  Cycles/STDW= 2.10

Index=  30  Cycles/STDW= 2.96

Index=  32  Cycles/STDW= 3.92

Index=  40  Cycles/STDW= 2.14

Index=  48  Cycles/STDW= 2.18

Index=  56  Cycles/STDW= 2.21

Index=  64  Cycles/STDW= 3.92

Index=  96  Cycles/STDW= 3.92

Index= 128  Cycles/STDW= 3.92

Index= 192  Cycles/STDW= 3.92

SL2 LDDW test: prefetchable, cacheable

Memory access performance test at 0xc080000

Index=   0  Cycles/LDDW= 1.10

Index=   1  Cycles/LDDW= 2.31

Index=   2  Cycles/LDDW= 3.89

Index=   3  Cycles/LDDW= 5.63

Index=   4  Cycles/LDDW= 7.18

Index=   5  Cycles/LDDW= 7.66

Index=   6  Cycles/LDDW= 9.12

Index=   7  Cycles/LDDW= 9.13

Index=   8  Cycles/LDDW= 8.15

Index=  10  Cycles/LDDW= 10.41

Index=  12  Cycles/LDDW= 10.68

Index=  14  Cycles/LDDW= 10.68

Index=  16  Cycles/LDDW= 11.19

Index=  18  Cycles/LDDW= 11.17

Index=  20  Cycles/LDDW= 11.20

Index=  22  Cycles/LDDW= 11.20

Index=  24  Cycles/LDDW= 11.20

Index=  26  Cycles/LDDW= 11.21

Index=  28  Cycles/LDDW= 11.21

Index=  30  Cycles/LDDW= 11.20

Index=  32  Cycles/LDDW= 11.26

Index=  40  Cycles/LDDW= 11.25

Index=  48  Cycles/LDDW= 11.26

Index=  56  Cycles/LDDW= 11.28

Index=  64  Cycles/LDDW= 11.40

Index=  96  Cycles/LDDW= 11.41

Index= 128  Cycles/LDDW= 11.66

Index= 192  Cycles/LDDW= 11.65

SL2 STDW test: prefetchable, cacheable

Memory access performance test at 0xc080000

Index=   0  Cycles/STDW= 1.09

Index=   1  Cycles/STDW= 1.09

Index=   2  Cycles/STDW= 1.11

Index=   3  Cycles/STDW= 1.59

Index=   4  Cycles/STDW= 2.08

Index=   5  Cycles/STDW= 2.08

Index=   6  Cycles/STDW= 2.09

Index=   7  Cycles/STDW= 2.09

Index=   8  Cycles/STDW= 2.10

Index=  10  Cycles/STDW= 2.10

Index=  12  Cycles/STDW= 2.11

Index=  14  Cycles/STDW= 2.12

Index=  16  Cycles/STDW= 2.13

Index=  18  Cycles/STDW= 2.13

Index=  20  Cycles/STDW= 2.14

Index=  22  Cycles/STDW= 2.15

Index=  24  Cycles/STDW= 2.16

Index=  26  Cycles/STDW= 2.17

Index=  28  Cycles/STDW= 2.17

Index=  30  Cycles/STDW= 3.07

Index=  32  Cycles/STDW= 4.08

Index=  40  Cycles/STDW= 2.22

Index=  48  Cycles/STDW= 2.25

Index=  56  Cycles/STDW= 2.28

Index=  64  Cycles/STDW= 4.08

Index=  96  Cycles/STDW= 4.08

Index= 128  Cycles/STDW= 4.08

Index= 192  Cycles/STDW= 4.08

remapped SL2 LDDW test: non-prefetchable, non-cacheable

Memory access performance test at 0x18080000

Index=   0  Cycles/LDDW= 22.30

Index=   1  Cycles/LDDW= 19.80

Index=   2  Cycles/LDDW= 17.27

Index=   3  Cycles/LDDW= 14.78

Index=   4  Cycles/LDDW= 12.24

Index=   5  Cycles/LDDW= 14.23

Index=   6  Cycles/LDDW= 12.22

Index=   7  Cycles/LDDW= 11.74

Index=   8  Cycles/LDDW= 11.21

Index=  10  Cycles/LDDW= 11.21

Index=  12  Cycles/LDDW= 11.21

Index=  14  Cycles/LDDW= 11.21

Index=  16  Cycles/LDDW= 11.24

Index=  18  Cycles/LDDW= 11.22

Index=  20  Cycles/LDDW= 11.23

Index=  22  Cycles/LDDW= 11.23

Index=  24  Cycles/LDDW= 11.24

Index=  26  Cycles/LDDW= 11.24

Index=  28  Cycles/LDDW= 11.24

Index=  30  Cycles/LDDW= 11.24

Index=  32  Cycles/LDDW= 11.31

Index=  40  Cycles/LDDW= 11.28

Index=  48  Cycles/LDDW= 11.31

Index=  56  Cycles/LDDW= 11.31

Index=  64  Cycles/LDDW= 11.44

Index=  96  Cycles/LDDW= 11.44

Index= 128  Cycles/LDDW= 11.69

Index= 192  Cycles/LDDW= 11.69

remapped SL2 STDW test: non-prefetchable, non-cacheable

Memory access performance test at 0x18080000

Index=   0  Cycles/STDW= 4.08

Index=   1  Cycles/STDW= 3.58

Index=   2  Cycles/STDW= 3.08

Index=   3  Cycles/STDW= 2.57

Index=   4  Cycles/STDW= 2.08

Index=   5  Cycles/STDW= 2.09

Index=   6  Cycles/STDW= 2.09

Index=   7  Cycles/STDW= 2.10

Index=   8  Cycles/STDW= 2.10

Index=  10  Cycles/STDW= 2.11

Index=  12  Cycles/STDW= 2.12

Index=  14  Cycles/STDW= 2.12

Index=  16  Cycles/STDW= 2.13

Index=  18  Cycles/STDW= 2.14

Index=  20  Cycles/STDW= 2.15

Index=  22  Cycles/STDW= 2.15

Index=  24  Cycles/STDW= 2.16

Index=  26  Cycles/STDW= 2.17

Index=  28  Cycles/STDW= 2.18

Index=  30  Cycles/STDW= 3.08

Index=  32  Cycles/STDW= 4.08

Index=  40  Cycles/STDW= 2.22

Index=  48  Cycles/STDW= 2.26

Index=  56  Cycles/STDW= 2.29

Index=  64  Cycles/STDW= 4.08

Index=  96  Cycles/STDW= 4.08

Index= 128  Cycles/STDW= 4.08

Index= 192  Cycles/STDW= 4.08

remapped SL2 LDDW test: prefetchable, cacheable

Memory access performance test at 0x18080000

Index=   0  Cycles/LDDW= 1.10

Index=   1  Cycles/LDDW= 2.45

Index=   2  Cycles/LDDW= 4.15

Index=   3  Cycles/LDDW= 6.02

Index=   4  Cycles/LDDW= 7.69

Index=   5  Cycles/LDDW= 8.17

Index=   6  Cycles/LDDW= 9.63

Index=   7  Cycles/LDDW= 9.62

Index=   8  Cycles/LDDW= 8.66

Index=  10  Cycles/LDDW= 11.42

Index=  12  Cycles/LDDW= 11.44

Index=  14  Cycles/LDDW= 11.44

Index=  16  Cycles/LDDW= 12.20

Index=  18  Cycles/LDDW= 12.19

Index=  20  Cycles/LDDW= 12.21

Index=  22  Cycles/LDDW= 12.21

Index=  24  Cycles/LDDW= 12.22

Index=  26  Cycles/LDDW= 12.22

Index=  28  Cycles/LDDW= 12.22

Index=  30  Cycles/LDDW= 12.21

Index=  32  Cycles/LDDW= 12.28

Index=  40  Cycles/LDDW= 12.26

Index=  48  Cycles/LDDW= 12.28

Index=  56  Cycles/LDDW= 12.29

Index=  64  Cycles/LDDW= 12.42

Index=  96  Cycles/LDDW= 12.43

Index= 128  Cycles/LDDW= 12.68

Index= 192  Cycles/LDDW= 12.67

remapped SL2 STDW test: prefetchable, cacheable

Memory access performance test at 0x18080000

Index=   0  Cycles/STDW= 1.10

Index=   1  Cycles/STDW= 1.12

Index=   2  Cycles/STDW= 1.12

Index=   3  Cycles/STDW= 1.60

Index=   4  Cycles/STDW= 2.08

Index=   5  Cycles/STDW= 2.09

Index=   6  Cycles/STDW= 2.09

Index=   7  Cycles/STDW= 2.10

Index=   8  Cycles/STDW= 2.10

Index=  10  Cycles/STDW= 2.11

Index=  12  Cycles/STDW= 2.12

Index=  14  Cycles/STDW= 2.12

Index=  16  Cycles/STDW= 2.13

Index=  18  Cycles/STDW= 2.14

Index=  20  Cycles/STDW= 2.15

Index=  22  Cycles/STDW= 2.15

Index=  24  Cycles/STDW= 2.16

Index=  26  Cycles/STDW= 2.17

Index=  28  Cycles/STDW= 2.18

Index=  30  Cycles/STDW= 3.08

Index=  32  Cycles/STDW= 4.08

Index=  40  Cycles/STDW= 2.22

Index=  48  Cycles/STDW= 2.26

Index=  56  Cycles/STDW= 2.29

Index=  64  Cycles/STDW= 4.08

Index=  96  Cycles/STDW= 4.08

Index= 128  Cycles/STDW= 4.08

Index= 192  Cycles/STDW= 4.08

DDR LDDW test: nonprefetchable, noncacheable

Memory access performance test at 0x88000000

Index=   0  Cycles/LDDW= 76.21

Index=   1  Cycles/LDDW= 67.32

Index=   2  Cycles/LDDW= 58.59

Index=   3  Cycles/LDDW= 49.97

Index=   4  Cycles/LDDW= 41.23

Index=   5  Cycles/LDDW= 48.36

Index=   6  Cycles/LDDW= 39.78

Index=   7  Cycles/LDDW= 39.03

Index=   8  Cycles/LDDW= 38.20

Index=  10  Cycles/LDDW= 38.15

Index=  12  Cycles/LDDW= 38.20

Index=  14  Cycles/LDDW= 38.20

Index=  16  Cycles/LDDW= 38.39

Index=  18  Cycles/LDDW= 38.30

Index=  20  Cycles/LDDW= 38.34

Index=  22  Cycles/LDDW= 38.35

Index=  24  Cycles/LDDW= 38.48

Index=  26  Cycles/LDDW= 38.44

Index=  28  Cycles/LDDW= 38.49

Index=  30  Cycles/LDDW= 38.69

Index=  32  Cycles/LDDW= 38.96

Index=  40  Cycles/LDDW= 38.78

Index=  48  Cycles/LDDW= 39.01

Index=  56  Cycles/LDDW= 39.22

Index=  64  Cycles/LDDW= 40.08

Index=  96  Cycles/LDDW= 40.17

Index= 128  Cycles/LDDW= 42.33

Index= 192  Cycles/LDDW= 42.39

Index= 256  Cycles/LDDW= 46.89

Index= 384  Cycles/LDDW= 46.97

Index= 512  Cycles/LDDW= 54.44

Index= 768  Cycles/LDDW= 54.50

Index=1024  Cycles/LDDW= 54.58

Index=1536  Cycles/LDDW= 54.60

Index=2048  Cycles/LDDW= 106.65

Index=3072  Cycles/LDDW= 54.57

Index=4096  Cycles/LDDW= 106.83

Index=6144  Cycles/LDDW= 106.47

Index=8192  Cycles/LDDW= 106.99

Index=12288  Cycles/LDDW= 106.81

Index=16384  Cycles/LDDW= 106.90

Index=20480  Cycles/LDDW= 106.82

Index=24576  Cycles/LDDW= 106.95

Index=28672  Cycles/LDDW= 106.69

DDR STDW test: nonprefetchable, noncacheable

Memory access performance test at 0x88000000

Index=   0  Cycles/STDW= 6.03

Index=   1  Cycles/STDW= 6.03

Index=   2  Cycles/STDW= 6.03

Index=   3  Cycles/STDW= 6.03

Index=   4  Cycles/STDW= 6.03

Index=   5  Cycles/STDW= 6.03

Index=   6  Cycles/STDW= 6.03

Index=   7  Cycles/STDW= 6.03

Index=   8  Cycles/STDW= 6.03

Index=  10  Cycles/STDW= 6.03

Index=  12  Cycles/STDW= 6.03

Index=  14  Cycles/STDW= 6.03

Index=  16  Cycles/STDW= 6.03

Index=  18  Cycles/STDW= 6.03

Index=  20  Cycles/STDW= 6.03

Index=  22  Cycles/STDW= 6.03

Index=  24  Cycles/STDW= 6.03

Index=  26  Cycles/STDW= 6.03

Index=  28  Cycles/STDW= 6.03

Index=  30  Cycles/STDW= 6.03

Index=  32  Cycles/STDW= 6.03

Index=  40  Cycles/STDW= 6.03

Index=  48  Cycles/STDW= 6.03

Index=  56  Cycles/STDW= 6.03

Index=  64  Cycles/STDW= 6.03

Index=  96  Cycles/STDW= 6.03

Index= 128  Cycles/STDW= 6.03

Index= 192  Cycles/STDW= 6.03

Index= 256  Cycles/STDW= 6.03

Index= 384  Cycles/STDW= 6.19

Index= 512  Cycles/STDW= 6.04

Index= 768  Cycles/STDW= 8.97

Index=1024  Cycles/STDW= 11.91

Index=1536  Cycles/STDW= 13.85

Index=2048  Cycles/STDW= 15.57

Index=3072  Cycles/STDW= 11.91

Index=4096  Cycles/STDW= 30.95

Index=6144  Cycles/STDW= 15.57

Index=8192  Cycles/STDW= 61.81

Index=12288  Cycles/STDW= 30.95

Index=16384  Cycles/STDW= 61.81

Index=20480  Cycles/STDW= 30.95

Index=24576  Cycles/STDW= 61.81

Index=28672  Cycles/STDW= 30.95

DDR LDDW test: prefetchable, 32KB L1D cahce

Memory access performance test at 0x88000000

Index=   0  Cycles/LDDW= 1.24

Index=   1  Cycles/LDDW= 5.90

Index=   2  Cycles/LDDW= 11.19

Index=   3  Cycles/LDDW= 16.44

Index=   4  Cycles/LDDW= 21.50

Index=   5  Cycles/LDDW= 22.58

Index=   6  Cycles/LDDW= 23.71

Index=   7  Cycles/LDDW= 23.33

Index=   8  Cycles/LDDW= 23.03

Index=  10  Cycles/LDDW= 32.02

Index=  12  Cycles/LDDW= 33.00

Index=  14  Cycles/LDDW= 32.90

Index=  16  Cycles/LDDW= 39.45

Index=  18  Cycles/LDDW= 39.36

Index=  20  Cycles/LDDW= 39.56

Index=  22  Cycles/LDDW= 39.72

Index=  24  Cycles/LDDW= 39.81

Index=  26  Cycles/LDDW= 39.70

Index=  28  Cycles/LDDW= 39.83

Index=  30  Cycles/LDDW= 40.08

Index=  32  Cycles/LDDW= 40.21

Index=  40  Cycles/LDDW= 40.28

Index=  48  Cycles/LDDW= 40.33

Index=  56  Cycles/LDDW= 40.71

Index=  64  Cycles/LDDW= 41.47

Index=  96  Cycles/LDDW= 41.59

Index= 128  Cycles/LDDW= 43.71

Index= 192  Cycles/LDDW= 43.84

Index= 256  Cycles/LDDW= 48.27

Index= 384  Cycles/LDDW= 48.52

Index= 512  Cycles/LDDW= 55.79

Index= 768  Cycles/LDDW= 56.02

Index=1024  Cycles/LDDW= 56.09

Index=1536  Cycles/LDDW= 56.12

Index=2048  Cycles/LDDW= 109.51

Index=3072  Cycles/LDDW= 56.09

Index=4096  Cycles/LDDW= 109.69

Index=6144  Cycles/LDDW= 109.55

Index=8192  Cycles/LDDW= 109.82

Index=12288  Cycles/LDDW= 109.69

Index=16384  Cycles/LDDW= 109.92

Index=20480  Cycles/LDDW= 109.70

Index=24576  Cycles/LDDW= 110.10

Index=28672  Cycles/LDDW= 109.71

DDR STDW test: prefetchable, 32KB L1D cahce

Memory access performance test at 0x88000000

Index=   0  Cycles/STDW= 1.20

Index=   1  Cycles/STDW= 1.72

Index=   2  Cycles/STDW= 3.11

Index=   3  Cycles/STDW= 4.56

Index=   4  Cycles/STDW= 6.03

Index=   5  Cycles/STDW= 6.03

Index=   6  Cycles/STDW= 6.03

Index=   7  Cycles/STDW= 6.03

Index=   8  Cycles/STDW= 6.03

Index=  10  Cycles/STDW= 6.03

Index=  12  Cycles/STDW= 6.03

Index=  14  Cycles/STDW= 6.03

Index=  16  Cycles/STDW= 6.03

Index=  18  Cycles/STDW= 6.03

Index=  20  Cycles/STDW= 6.03

Index=  22  Cycles/STDW= 6.03

Index=  24  Cycles/STDW= 6.03

Index=  26  Cycles/STDW= 6.03

Index=  28  Cycles/STDW= 6.03

Index=  30  Cycles/STDW= 6.03

Index=  32  Cycles/STDW= 6.03

Index=  40  Cycles/STDW= 6.03

Index=  48  Cycles/STDW= 6.03

Index=  56  Cycles/STDW= 6.03

Index=  64  Cycles/STDW= 6.03

Index=  96  Cycles/STDW= 6.03

Index= 128  Cycles/STDW= 6.03

Index= 192  Cycles/STDW= 6.03

Index= 256  Cycles/STDW= 6.03

Index= 384  Cycles/STDW= 6.03

Index= 512  Cycles/STDW= 6.04

Index= 768  Cycles/STDW= 8.97

Index=1024  Cycles/STDW= 11.91

Index=1536  Cycles/STDW= 13.85

Index=2048  Cycles/STDW= 15.57

Index=3072  Cycles/STDW= 11.91

Index=4096  Cycles/STDW= 30.95

Index=6144  Cycles/STDW= 15.57

Index=8192  Cycles/STDW= 61.81

Index=12288  Cycles/STDW= 30.95

Index=16384  Cycles/STDW= 61.81

Index=20480  Cycles/STDW= 30.95

Index=24576  Cycles/STDW= 61.81

Index=28672  Cycles/STDW= 30.95

DDR LDDW test: prefetchable, 32KB L1D, 256KB L2 cahce

Memory access performance test at 0x88000000

Index=   0  Cycles/LDDW= 1.24

Index=   1  Cycles/LDDW= 3.76

Index=   2  Cycles/LDDW= 6.72

Index=   3  Cycles/LDDW= 9.89

Index=   4  Cycles/LDDW= 13.15

Index=   5  Cycles/LDDW= 15.63

Index=   6  Cycles/LDDW= 18.43

Index=   7  Cycles/LDDW= 21.14

Index=   8  Cycles/LDDW= 23.82

Index=  10  Cycles/LDDW= 25.48

Index=  12  Cycles/LDDW= 27.54

Index=  14  Cycles/LDDW= 28.23

Index=  16  Cycles/LDDW= 28.58

Index=  18  Cycles/LDDW= 33.53

Index=  20  Cycles/LDDW= 36.02

Index=  22  Cycles/LDDW= 37.92

Index=  24  Cycles/LDDW= 39.82

Index=  26  Cycles/LDDW= 39.90

Index=  28  Cycles/LDDW= 40.01

Index=  30  Cycles/LDDW= 40.24

Index=  32  Cycles/LDDW= 40.21

Index=  40  Cycles/LDDW= 40.55

Index=  48  Cycles/LDDW= 40.54

Index=  56  Cycles/LDDW= 40.72

Index=  64  Cycles/LDDW= 41.52

Index=  96  Cycles/LDDW= 41.70

Index= 128  Cycles/LDDW= 44.24

Index= 192  Cycles/LDDW= 43.92

Index= 256  Cycles/LDDW= 48.42

Index= 384  Cycles/LDDW= 48.51

Index= 512  Cycles/LDDW= 55.97

Index= 768  Cycles/LDDW= 56.03

Index=1024  Cycles/LDDW= 56.10

Index=1536  Cycles/LDDW= 56.13

Index=2048  Cycles/LDDW= 112.59

Index=3072  Cycles/LDDW= 56.10

Index=4096  Cycles/LDDW= 112.99

Index=6144  Cycles/LDDW= 112.65

Index=8192  Cycles/LDDW= 112.77

Index=12288  Cycles/LDDW= 112.67

Index=16384  Cycles/LDDW= 112.79

Index=20480  Cycles/LDDW= 112.83

Index=24576  Cycles/LDDW= 112.92

Index=28672  Cycles/LDDW= 112.88

DDR STDW test: prefetchable, 32KB L1D, 256KB L2 cahce

Memory access performance test at 0x88000000

Index=   0  Cycles/STDW= 1.06

Index=   1  Cycles/STDW= 2.87

Index=   2  Cycles/STDW= 5.68

Index=   3  Cycles/STDW= 8.49

Index=   4  Cycles/STDW= 11.42

Index=   5  Cycles/STDW= 14.10

Index=   6  Cycles/STDW= 16.91

Index=   7  Cycles/STDW= 19.67

Index=   8  Cycles/STDW= 22.47

Index=  10  Cycles/STDW= 24.30

Index=  12  Cycles/STDW= 25.84

Index=  14  Cycles/STDW= 21.22

Index=  16  Cycles/STDW= 16.58

Index=  18  Cycles/STDW= 17.73

Index=  20  Cycles/STDW= 18.48

Index=  22  Cycles/STDW= 18.98

Index=  24  Cycles/STDW= 18.57

Index=  26  Cycles/STDW= 19.39

Index=  28  Cycles/STDW= 19.12

Index=  30  Cycles/STDW= 18.93

Index=  32  Cycles/STDW= 19.24

Index=  40  Cycles/STDW= 19.31

Index=  48  Cycles/STDW= 19.31

Index=  56  Cycles/STDW= 19.45

Index=  64  Cycles/STDW= 21.34

Index=  96  Cycles/STDW= 19.89

Index= 128  Cycles/STDW= 69.81

Index= 192  Cycles/STDW= 23.52

Index= 256  Cycles/STDW= 89.78

Index= 384  Cycles/STDW= 63.94

Index= 512  Cycles/STDW= 89.99

Index= 768  Cycles/STDW= 72.77

Index=1024  Cycles/STDW= 72.88

Index=1536  Cycles/STDW= 69.79

Index=2048  Cycles/STDW= 74.43

Index=3072  Cycles/STDW= 72.88

Index=4096  Cycles/STDW= 75.20

Index=6144  Cycles/STDW= 74.43

Index=8192  Cycles/STDW= 121.43

Index=12288  Cycles/STDW= 75.20

Index=16384  Cycles/STDW= 121.12

Index=20480  Cycles/STDW= 75.20

Index=24576  Cycles/STDW= 121.18

Index=28672  Cycles/STDW= 75.20

Overhead test with EDMA CC0 TC0

transfer    1 *     8 Bytes with index=    0 from 0x11f00000 to 0x11f02000, consumes    319 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11f00000 to 0x12840000, consumes    319 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11f00000 to 0x c140000, consumes    319 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11f00000 to 0x88100000, consumes    319 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11820000 to 0x11f02000, consumes    319 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11820000 to 0x12840000, consumes    319 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11820000 to 0x c140000, consumes    319 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11820000 to 0x88100000, consumes    319 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x c080000 to 0x11f02000, consumes    319 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x c080000 to 0x12840000, consumes    319 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x c080000 to 0x c140000, consumes    253 cycles, achieve throughput    31 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x c080000 to 0x88100000, consumes    253 cycles, achieve throughput    31 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x88000000 to 0x11f02000, consumes    319 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x88000000 to 0x12840000, consumes    319 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x88000000 to 0x c140000, consumes    319 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x88000000 to 0x88100000, consumes    385 cycles, achieve throughput    20 MB/s

Overhead test with EDMA CC0 TC1

transfer    1 *     8 Bytes with index=    0 from 0x11f00000 to 0x11f02000, consumes    319 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11f00000 to 0x12840000, consumes    319 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11f00000 to 0x c140000, consumes    319 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11f00000 to 0x88100000, consumes    319 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11820000 to 0x11f02000, consumes    319 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11820000 to 0x12840000, consumes    319 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11820000 to 0x c140000, consumes    319 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11820000 to 0x88100000, consumes    319 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x c080000 to 0x11f02000, consumes    319 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x c080000 to 0x12840000, consumes    319 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x c080000 to 0x c140000, consumes    253 cycles, achieve throughput    31 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x c080000 to 0x88100000, consumes    253 cycles, achieve throughput    31 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x88000000 to 0x11f02000, consumes    319 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x88000000 to 0x12840000, consumes    319 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x88000000 to 0x c140000, consumes    319 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x88000000 to 0x88100000, consumes    385 cycles, achieve throughput    20 MB/s

Overhead test with EDMA CC1 TC0

transfer    1 *     8 Bytes with index=    0 from 0x11f00000 to 0x11f02000, consumes    259 cycles, achieve throughput    30 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11f00000 to 0x12840000, consumes    259 cycles, achieve throughput    30 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11f00000 to 0x c140000, consumes    310 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11f00000 to 0x88100000, consumes    310 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11820000 to 0x11f02000, consumes    259 cycles, achieve throughput    30 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11820000 to 0x12840000, consumes    259 cycles, achieve throughput    30 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11820000 to 0x c140000, consumes    310 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11820000 to 0x88100000, consumes    310 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x c080000 to 0x11f02000, consumes    310 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x c080000 to 0x12840000, consumes    310 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x c080000 to 0x c140000, consumes    310 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x c080000 to 0x88100000, consumes    361 cycles, achieve throughput    22 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x88000000 to 0x11f02000, consumes    361 cycles, achieve throughput    22 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x88000000 to 0x12840000, consumes    361 cycles, achieve throughput    22 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x88000000 to 0x c140000, consumes    361 cycles, achieve throughput    22 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x88000000 to 0x88100000, consumes    463 cycles, achieve throughput    17 MB/s

Overhead test with EDMA CC1 TC1

transfer    1 *     8 Bytes with index=    0 from 0x11f00000 to 0x11f02000, consumes    259 cycles, achieve throughput    30 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11f00000 to 0x12840000, consumes    259 cycles, achieve throughput    30 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11f00000 to 0x c140000, consumes    310 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11f00000 to 0x88100000, consumes    310 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11820000 to 0x11f02000, consumes    259 cycles, achieve throughput    30 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11820000 to 0x12840000, consumes    259 cycles, achieve throughput    30 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11820000 to 0x c140000, consumes    310 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11820000 to 0x88100000, consumes    310 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x c080000 to 0x11f02000, consumes    310 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x c080000 to 0x12840000, consumes    310 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x c080000 to 0x c140000, consumes    310 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x c080000 to 0x88100000, consumes    361 cycles, achieve throughput    22 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x88000000 to 0x11f02000, consumes    361 cycles, achieve throughput    22 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x88000000 to 0x12840000, consumes    361 cycles, achieve throughput    22 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x88000000 to 0x c140000, consumes    361 cycles, achieve throughput    22 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x88000000 to 0x88100000, consumes    463 cycles, achieve throughput    17 MB/s

Overhead test with EDMA CC1 TC2

transfer    1 *     8 Bytes with index=    0 from 0x11f00000 to 0x11f02000, consumes    259 cycles, achieve throughput    30 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11f00000 to 0x12840000, consumes    259 cycles, achieve throughput    30 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11f00000 to 0x c140000, consumes    310 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11f00000 to 0x88100000, consumes    310 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11820000 to 0x11f02000, consumes    259 cycles, achieve throughput    30 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11820000 to 0x12840000, consumes    259 cycles, achieve throughput    30 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11820000 to 0x c140000, consumes    310 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11820000 to 0x88100000, consumes    310 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x c080000 to 0x11f02000, consumes    310 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x c080000 to 0x12840000, consumes    310 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x c080000 to 0x c140000, consumes    310 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x c080000 to 0x88100000, consumes    361 cycles, achieve throughput    22 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x88000000 to 0x11f02000, consumes    361 cycles, achieve throughput    22 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x88000000 to 0x12840000, consumes    361 cycles, achieve throughput    22 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x88000000 to 0x c140000, consumes    361 cycles, achieve throughput    22 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x88000000 to 0x88100000, consumes    463 cycles, achieve throughput    17 MB/s

Overhead test with EDMA CC1 TC3

transfer    1 *     8 Bytes with index=    0 from 0x11f00000 to 0x11f02000, consumes    259 cycles, achieve throughput    30 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11f00000 to 0x12840000, consumes    259 cycles, achieve throughput    30 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11f00000 to 0x c140000, consumes    310 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11f00000 to 0x88100000, consumes    310 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11820000 to 0x11f02000, consumes    259 cycles, achieve throughput    30 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11820000 to 0x12840000, consumes    259 cycles, achieve throughput    30 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11820000 to 0x c140000, consumes    310 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11820000 to 0x88100000, consumes    310 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x c080000 to 0x11f02000, consumes    310 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x c080000 to 0x12840000, consumes    310 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x c080000 to 0x c140000, consumes    310 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x c080000 to 0x88100000, consumes    361 cycles, achieve throughput    22 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x88000000 to 0x11f02000, consumes    361 cycles, achieve throughput    22 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x88000000 to 0x12840000, consumes    361 cycles, achieve throughput    22 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x88000000 to 0x c140000, consumes    361 cycles, achieve throughput    22 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x88000000 to 0x88100000, consumes    463 cycles, achieve throughput    17 MB/s

Overhead test with EDMA CC2 TC0

transfer    1 *     8 Bytes with index=    0 from 0x11f00000 to 0x11f02000, consumes    259 cycles, achieve throughput    30 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11f00000 to 0x12840000, consumes    259 cycles, achieve throughput    30 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11f00000 to 0x c140000, consumes    310 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11f00000 to 0x88100000, consumes    310 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11820000 to 0x11f02000, consumes    259 cycles, achieve throughput    30 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11820000 to 0x12840000, consumes    259 cycles, achieve throughput    30 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11820000 to 0x c140000, consumes    310 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11820000 to 0x88100000, consumes    310 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x c080000 to 0x11f02000, consumes    310 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x c080000 to 0x12840000, consumes    310 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x c080000 to 0x c140000, consumes    310 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x c080000 to 0x88100000, consumes    361 cycles, achieve throughput    22 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x88000000 to 0x11f02000, consumes    361 cycles, achieve throughput    22 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x88000000 to 0x12840000, consumes    361 cycles, achieve throughput    22 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x88000000 to 0x c140000, consumes    361 cycles, achieve throughput    22 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x88000000 to 0x88100000, consumes    463 cycles, achieve throughput    17 MB/s

Overhead test with EDMA CC2 TC1

transfer    1 *     8 Bytes with index=    0 from 0x11f00000 to 0x11f02000, consumes    259 cycles, achieve throughput    30 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11f00000 to 0x12840000, consumes    259 cycles, achieve throughput    30 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11f00000 to 0x c140000, consumes    310 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11f00000 to 0x88100000, consumes    310 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11820000 to 0x11f02000, consumes    259 cycles, achieve throughput    30 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11820000 to 0x12840000, consumes    259 cycles, achieve throughput    30 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11820000 to 0x c140000, consumes    310 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11820000 to 0x88100000, consumes    310 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x c080000 to 0x11f02000, consumes    310 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x c080000 to 0x12840000, consumes    310 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x c080000 to 0x c140000, consumes    310 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x c080000 to 0x88100000, consumes    361 cycles, achieve throughput    22 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x88000000 to 0x11f02000, consumes    361 cycles, achieve throughput    22 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x88000000 to 0x12840000, consumes    361 cycles, achieve throughput    22 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x88000000 to 0x c140000, consumes    361 cycles, achieve throughput    22 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x88000000 to 0x88100000, consumes    463 cycles, achieve throughput    17 MB/s

Overhead test with EDMA CC2 TC2

transfer    1 *     8 Bytes with index=    0 from 0x11f00000 to 0x11f02000, consumes    259 cycles, achieve throughput    30 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11f00000 to 0x12840000, consumes    259 cycles, achieve throughput    30 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11f00000 to 0x c140000, consumes    310 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11f00000 to 0x88100000, consumes    310 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11820000 to 0x11f02000, consumes    259 cycles, achieve throughput    30 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11820000 to 0x12840000, consumes    259 cycles, achieve throughput    30 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11820000 to 0x c140000, consumes    310 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11820000 to 0x88100000, consumes    310 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x c080000 to 0x11f02000, consumes    310 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x c080000 to 0x12840000, consumes    310 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x c080000 to 0x c140000, consumes    310 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x c080000 to 0x88100000, consumes    361 cycles, achieve throughput    22 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x88000000 to 0x11f02000, consumes    361 cycles, achieve throughput    22 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x88000000 to 0x12840000, consumes    361 cycles, achieve throughput    22 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x88000000 to 0x c140000, consumes    361 cycles, achieve throughput    22 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x88000000 to 0x88100000, consumes    463 cycles, achieve throughput    17 MB/s

Overhead test with EDMA CC2 TC3

transfer    1 *     8 Bytes with index=    0 from 0x11f00000 to 0x11f02000, consumes    259 cycles, achieve throughput    30 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11f00000 to 0x12840000, consumes    259 cycles, achieve throughput    30 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11f00000 to 0x c140000, consumes    310 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11f00000 to 0x88100000, consumes    310 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11820000 to 0x11f02000, consumes    259 cycles, achieve throughput    30 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11820000 to 0x12840000, consumes    259 cycles, achieve throughput    30 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11820000 to 0x c140000, consumes    310 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x11820000 to 0x88100000, consumes    310 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x c080000 to 0x11f02000, consumes    310 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x c080000 to 0x12840000, consumes    310 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x c080000 to 0x c140000, consumes    310 cycles, achieve throughput    25 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x c080000 to 0x88100000, consumes    361 cycles, achieve throughput    22 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x88000000 to 0x11f02000, consumes    361 cycles, achieve throughput    22 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x88000000 to 0x12840000, consumes    361 cycles, achieve throughput    22 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x88000000 to 0x c140000, consumes    361 cycles, achieve throughput    22 MB/s

transfer    1 *     8 Bytes with index=    0 from 0x88000000 to 0x88100000, consumes    463 cycles, achieve throughput    17 MB/s

Throughput test with EDMA0 TC0

transfer  128 *  1024 Bytes with index= 1024 from 0x11820000 to 0x11840000, consumes  26521 cycles, achieve throughput  4942 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x11820000 to 0x12840000, consumes  24937 cycles, achieve throughput  5256 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x11820000 to 0x c140000, consumes  24871 cycles, achieve throughput  5270 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x c080000 to 0x12840000, consumes  24871 cycles, achieve throughput  5270 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x c080000 to 0x c140000, consumes  16621 cycles, achieve throughput  7885 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11f00000 to 0x11f02000, consumes   2563 cycles, achieve throughput  3196 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11820000 to 0x11f02000, consumes   1969 cycles, achieve throughput  4160 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11f00000 to 0x11840000, consumes   1969 cycles, achieve throughput  4160 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11820000 to 0x11e02000, consumes   1969 cycles, achieve throughput  4160 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11f00000 to 0x11e02000, consumes   1969 cycles, achieve throughput  4160 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11f00000 to 0x88100000, consumes   1837 cycles, achieve throughput  4459 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x88000000 to 0x11f00000, consumes   1903 cycles, achieve throughput  4304 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x11820000 to 0x88100000, consumes  24871 cycles, achieve throughput  5270 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x88000000 to 0x12840000, consumes  25069 cycles, achieve throughput  5228 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x88000000 to 0x88100000, consumes  33385 cycles, achieve throughput  3926 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x88000000 to 0x88104000, consumes  33979 cycles, achieve throughput  3857 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x c080000 to 0x88100000, consumes  12595 cycles, achieve throughput 10406 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x88000000 to 0x c140000, consumes  13585 cycles, achieve throughput  9648 MB/s

Throughput test with EDMA0 TC1

transfer  128 *  1024 Bytes with index= 1024 from 0x11820000 to 0x11840000, consumes  26521 cycles, achieve throughput  4942 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x11820000 to 0x12840000, consumes  24937 cycles, achieve throughput  5256 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x11820000 to 0x c140000, consumes  24871 cycles, achieve throughput  5270 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x c080000 to 0x12840000, consumes  24871 cycles, achieve throughput  5270 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x c080000 to 0x c140000, consumes  16621 cycles, achieve throughput  7885 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11f00000 to 0x11f02000, consumes   2563 cycles, achieve throughput  3196 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11820000 to 0x11f02000, consumes   1969 cycles, achieve throughput  4160 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11f00000 to 0x11840000, consumes   1969 cycles, achieve throughput  4160 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11820000 to 0x11e02000, consumes   1969 cycles, achieve throughput  4160 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11f00000 to 0x11e02000, consumes   1969 cycles, achieve throughput  4160 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11f00000 to 0x88100000, consumes   1837 cycles, achieve throughput  4459 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x88000000 to 0x11f00000, consumes   1903 cycles, achieve throughput  4304 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x11820000 to 0x88100000, consumes  24871 cycles, achieve throughput  5270 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x88000000 to 0x12840000, consumes  24937 cycles, achieve throughput  5256 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x88000000 to 0x88100000, consumes  33451 cycles, achieve throughput  3918 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x88000000 to 0x88104000, consumes  33451 cycles, achieve throughput  3918 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x c080000 to 0x88100000, consumes  12595 cycles, achieve throughput 10406 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x88000000 to 0x c140000, consumes  13651 cycles, achieve throughput  9601 MB/s

Throughput test with EDMA1 TC0

transfer  128 *  1024 Bytes with index= 1024 from 0x11820000 to 0x11840000, consumes  27238 cycles, achieve throughput  4812 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x11820000 to 0x12840000, consumes  26014 cycles, achieve throughput  5038 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x11820000 to 0x c140000, consumes  26014 cycles, achieve throughput  5038 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x c080000 to 0x12840000, consumes  26014 cycles, achieve throughput  5038 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x c080000 to 0x c140000, consumes  26065 cycles, achieve throughput  5028 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11f00000 to 0x11f02000, consumes   2503 cycles, achieve throughput  3272 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11820000 to 0x11f02000, consumes   1942 cycles, achieve throughput  4218 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11f00000 to 0x11840000, consumes   1942 cycles, achieve throughput  4218 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11820000 to 0x11e02000, consumes   1942 cycles, achieve throughput  4218 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11f00000 to 0x11e02000, consumes   1993 cycles, achieve throughput  4110 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11f00000 to 0x88100000, consumes   1942 cycles, achieve throughput  4218 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x88000000 to 0x11f00000, consumes   1942 cycles, achieve throughput  4218 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x11820000 to 0x88100000, consumes  26065 cycles, achieve throughput  5028 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x88000000 to 0x12840000, consumes  26422 cycles, achieve throughput  4960 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x88000000 to 0x88100000, consumes  47485 cycles, achieve throughput  2760 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x88000000 to 0x88104000, consumes  33817 cycles, achieve throughput  3875 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x c080000 to 0x88100000, consumes  26065 cycles, achieve throughput  5028 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x88000000 to 0x c140000, consumes  26524 cycles, achieve throughput  4941 MB/s

Throughput test with EDMA1 TC1

transfer  128 *  1024 Bytes with index= 1024 from 0x11820000 to 0x11840000, consumes  26014 cycles, achieve throughput  5038 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x11820000 to 0x12840000, consumes  26014 cycles, achieve throughput  5038 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x11820000 to 0x c140000, consumes  26014 cycles, achieve throughput  5038 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x c080000 to 0x12840000, consumes  26014 cycles, achieve throughput  5038 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x c080000 to 0x c140000, consumes  26065 cycles, achieve throughput  5028 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11f00000 to 0x11f02000, consumes   2554 cycles, achieve throughput  3207 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11820000 to 0x11f02000, consumes   1891 cycles, achieve throughput  4332 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11f00000 to 0x11840000, consumes   1891 cycles, achieve throughput  4332 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11820000 to 0x11e02000, consumes   1891 cycles, achieve throughput  4332 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11f00000 to 0x11e02000, consumes   1891 cycles, achieve throughput  4332 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11f00000 to 0x88100000, consumes   1942 cycles, achieve throughput  4218 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x88000000 to 0x11f00000, consumes   2503 cycles, achieve throughput  3272 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x11820000 to 0x88100000, consumes  26269 cycles, achieve throughput  4989 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x88000000 to 0x12840000, consumes  36265 cycles, achieve throughput  3614 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x88000000 to 0x88100000, consumes  70486 cycles, achieve throughput  1859 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x88000000 to 0x88104000, consumes  41416 cycles, achieve throughput  3164 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x c080000 to 0x88100000, consumes  26167 cycles, achieve throughput  5009 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x88000000 to 0x c140000, consumes  37897 cycles, achieve throughput  3458 MB/s

Throughput test with EDMA1 TC2

transfer  128 *  1024 Bytes with index= 1024 from 0x11820000 to 0x11840000, consumes  27238 cycles, achieve throughput  4812 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x11820000 to 0x12840000, consumes  26014 cycles, achieve throughput  5038 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x11820000 to 0x c140000, consumes  26014 cycles, achieve throughput  5038 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x c080000 to 0x12840000, consumes  26014 cycles, achieve throughput  5038 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x c080000 to 0x c140000, consumes  26065 cycles, achieve throughput  5028 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11f00000 to 0x11f02000, consumes   2503 cycles, achieve throughput  3272 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11820000 to 0x11f02000, consumes   1942 cycles, achieve throughput  4218 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11f00000 to 0x11840000, consumes   1942 cycles, achieve throughput  4218 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11820000 to 0x11e02000, consumes   1942 cycles, achieve throughput  4218 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11f00000 to 0x11e02000, consumes   1993 cycles, achieve throughput  4110 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11f00000 to 0x88100000, consumes   1942 cycles, achieve throughput  4218 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x88000000 to 0x11f00000, consumes   1942 cycles, achieve throughput  4218 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x11820000 to 0x88100000, consumes  26065 cycles, achieve throughput  5028 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x88000000 to 0x12840000, consumes  26422 cycles, achieve throughput  4960 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x88000000 to 0x88100000, consumes  47485 cycles, achieve throughput  2760 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x88000000 to 0x88104000, consumes  34174 cycles, achieve throughput  3835 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x c080000 to 0x88100000, consumes  26065 cycles, achieve throughput  5028 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x88000000 to 0x c140000, consumes  26422 cycles, achieve throughput  4960 MB/s

Throughput test with EDMA1 TC3

transfer  128 *  1024 Bytes with index= 1024 from 0x11820000 to 0x11840000, consumes  26014 cycles, achieve throughput  5038 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x11820000 to 0x12840000, consumes  26014 cycles, achieve throughput  5038 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x11820000 to 0x c140000, consumes  26014 cycles, achieve throughput  5038 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x c080000 to 0x12840000, consumes  26014 cycles, achieve throughput  5038 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x c080000 to 0x c140000, consumes  26065 cycles, achieve throughput  5028 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11f00000 to 0x11f02000, consumes   2554 cycles, achieve throughput  3207 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11820000 to 0x11f02000, consumes   1891 cycles, achieve throughput  4332 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11f00000 to 0x11840000, consumes   1891 cycles, achieve throughput  4332 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11820000 to 0x11e02000, consumes   1891 cycles, achieve throughput  4332 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11f00000 to 0x11e02000, consumes   1891 cycles, achieve throughput  4332 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11f00000 to 0x88100000, consumes   1942 cycles, achieve throughput  4218 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x88000000 to 0x11f00000, consumes   2503 cycles, achieve throughput  3272 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x11820000 to 0x88100000, consumes  26269 cycles, achieve throughput  4989 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x88000000 to 0x12840000, consumes  36265 cycles, achieve throughput  3614 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x88000000 to 0x88100000, consumes  70435 cycles, achieve throughput  1860 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x88000000 to 0x88104000, consumes  41671 cycles, achieve throughput  3145 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x c080000 to 0x88100000, consumes  26116 cycles, achieve throughput  5018 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x88000000 to 0x c140000, consumes  37897 cycles, achieve throughput  3458 MB/s

Throughput test with EDMA2 TC0

transfer  128 *  1024 Bytes with index= 1024 from 0x11820000 to 0x11840000, consumes  27238 cycles, achieve throughput  4812 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x11820000 to 0x12840000, consumes  26014 cycles, achieve throughput  5038 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x11820000 to 0x c140000, consumes  26014 cycles, achieve throughput  5038 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x c080000 to 0x12840000, consumes  26014 cycles, achieve throughput  5038 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x c080000 to 0x c140000, consumes  26065 cycles, achieve throughput  5028 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11f00000 to 0x11f02000, consumes   2503 cycles, achieve throughput  3272 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11820000 to 0x11f02000, consumes   1942 cycles, achieve throughput  4218 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11f00000 to 0x11840000, consumes   1942 cycles, achieve throughput  4218 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11820000 to 0x11e02000, consumes   1942 cycles, achieve throughput  4218 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11f00000 to 0x11e02000, consumes   1993 cycles, achieve throughput  4110 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11f00000 to 0x88100000, consumes   1942 cycles, achieve throughput  4218 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x88000000 to 0x11f00000, consumes   1942 cycles, achieve throughput  4218 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x11820000 to 0x88100000, consumes  26065 cycles, achieve throughput  5028 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x88000000 to 0x12840000, consumes  26116 cycles, achieve throughput  5018 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x88000000 to 0x88100000, consumes  47383 cycles, achieve throughput  2766 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x88000000 to 0x88104000, consumes  33766 cycles, achieve throughput  3881 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x c080000 to 0x88100000, consumes  26065 cycles, achieve throughput  5028 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x88000000 to 0x c140000, consumes  26422 cycles, achieve throughput  4960 MB/s

Throughput test with EDMA2 TC1

transfer  128 *  1024 Bytes with index= 1024 from 0x11820000 to 0x11840000, consumes  26014 cycles, achieve throughput  5038 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x11820000 to 0x12840000, consumes  26014 cycles, achieve throughput  5038 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x11820000 to 0x c140000, consumes  26014 cycles, achieve throughput  5038 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x c080000 to 0x12840000, consumes  26014 cycles, achieve throughput  5038 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x c080000 to 0x c140000, consumes  26065 cycles, achieve throughput  5028 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11f00000 to 0x11f02000, consumes   2554 cycles, achieve throughput  3207 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11820000 to 0x11f02000, consumes   1891 cycles, achieve throughput  4332 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11f00000 to 0x11840000, consumes   1891 cycles, achieve throughput  4332 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11820000 to 0x11e02000, consumes   1891 cycles, achieve throughput  4332 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11f00000 to 0x11e02000, consumes   1891 cycles, achieve throughput  4332 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11f00000 to 0x88100000, consumes   1942 cycles, achieve throughput  4218 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x88000000 to 0x11f00000, consumes   2503 cycles, achieve throughput  3272 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x11820000 to 0x88100000, consumes  26218 cycles, achieve throughput  4999 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x88000000 to 0x12840000, consumes  36418 cycles, achieve throughput  3599 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x88000000 to 0x88100000, consumes  70486 cycles, achieve throughput  1859 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x88000000 to 0x88104000, consumes  41620 cycles, achieve throughput  3149 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x c080000 to 0x88100000, consumes  26116 cycles, achieve throughput  5018 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x88000000 to 0x c140000, consumes  37897 cycles, achieve throughput  3458 MB/s

Throughput test with EDMA2 TC2

transfer  128 *  1024 Bytes with index= 1024 from 0x11820000 to 0x11840000, consumes  26014 cycles, achieve throughput  5038 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x11820000 to 0x12840000, consumes  26014 cycles, achieve throughput  5038 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x11820000 to 0x c140000, consumes  26014 cycles, achieve throughput  5038 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x c080000 to 0x12840000, consumes  26014 cycles, achieve throughput  5038 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x c080000 to 0x c140000, consumes  26065 cycles, achieve throughput  5028 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11f00000 to 0x11f02000, consumes   2554 cycles, achieve throughput  3207 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11820000 to 0x11f02000, consumes   1891 cycles, achieve throughput  4332 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11f00000 to 0x11840000, consumes   1891 cycles, achieve throughput  4332 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11820000 to 0x11e02000, consumes   1891 cycles, achieve throughput  4332 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11f00000 to 0x11e02000, consumes   1891 cycles, achieve throughput  4332 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11f00000 to 0x88100000, consumes   1942 cycles, achieve throughput  4218 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x88000000 to 0x11f00000, consumes   2656 cycles, achieve throughput  3084 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x11820000 to 0x88100000, consumes  26269 cycles, achieve throughput  4989 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x88000000 to 0x12840000, consumes  36520 cycles, achieve throughput  3589 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x88000000 to 0x88100000, consumes  70333 cycles, achieve throughput  1863 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x88000000 to 0x88104000, consumes  41671 cycles, achieve throughput  3145 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x c080000 to 0x88100000, consumes  26218 cycles, achieve throughput  4999 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x88000000 to 0x c140000, consumes  37999 cycles, achieve throughput  3449 MB/s

Throughput test with EDMA2 TC3

transfer  128 *  1024 Bytes with index= 1024 from 0x11820000 to 0x11840000, consumes  27238 cycles, achieve throughput  4812 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x11820000 to 0x12840000, consumes  26014 cycles, achieve throughput  5038 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x11820000 to 0x c140000, consumes  26014 cycles, achieve throughput  5038 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x c080000 to 0x12840000, consumes  26014 cycles, achieve throughput  5038 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x c080000 to 0x c140000, consumes  26065 cycles, achieve throughput  5028 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11f00000 to 0x11f02000, consumes   2503 cycles, achieve throughput  3272 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11820000 to 0x11f02000, consumes   1942 cycles, achieve throughput  4218 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11f00000 to 0x11840000, consumes   1942 cycles, achieve throughput  4218 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11820000 to 0x11e02000, consumes   1942 cycles, achieve throughput  4218 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11f00000 to 0x11e02000, consumes   1993 cycles, achieve throughput  4110 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x11f00000 to 0x88100000, consumes   1942 cycles, achieve throughput  4218 MB/s

transfer    8 *  1024 Bytes with index= 1024 from 0x88000000 to 0x11f00000, consumes   2044 cycles, achieve throughput  4007 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x11820000 to 0x88100000, consumes  26065 cycles, achieve throughput  5028 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x88000000 to 0x12840000, consumes  26422 cycles, achieve throughput  4960 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x88000000 to 0x88100000, consumes  47383 cycles, achieve throughput  2766 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x88000000 to 0x88104000, consumes  34123 cycles, achieve throughput  3841 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x c080000 to 0x88100000, consumes  26065 cycles, achieve throughput  5028 MB/s

transfer  128 *  1024 Bytes with index= 1024 from 0x88000000 to 0x c140000, consumes  26116 cycles, achieve throughput  5018 MB/s

EDMA test complete

IDMA1 overhead test

IDMA1 transfer      4 Bytes from 0x  f00000 to 0x  f02000, consumes 66 cycles, achieve throughput    60 MB/s

IDMA1 transfer      4 Bytes from 0x  f00000 to 0x  840000, consumes 66 cycles, achieve throughput    60 MB/s

IDMA1 transfer      4 Bytes from 0x  820000 to 0x  f02000, consumes 66 cycles, achieve throughput    60 MB/s

IDMA1 transfer      4 Bytes from 0x  820000 to 0x  840000, consumes 66 cycles, achieve throughput    60 MB/s

IDMA1 throughput test

IDMA1 transfer   8192 Bytes from 0x  f00000 to 0x  f02000, consumes 2106 cycles, achieve throughput  3889 MB/s

IDMA1 transfer   8192 Bytes from 0x  f00000 to 0x  840000, consumes 1101 cycles, achieve throughput  7440 MB/s

IDMA1 transfer   8192 Bytes from 0x  820000 to 0x  f02000, consumes 1086 cycles, achieve throughput  7543 MB/s

IDMA1 transfer  32768 Bytes from 0x  820000 to 0x  840000, consumes 9796 cycles, achieve throughput  3345 MB/s

Test complete
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